ADME (B L AR

nm -1 @ -8 @B -12 @ 21
(1) 3z+2 =3X(—3)+2x4
=—9+8 =—1
2 —dz—5y=—4x(—3)—5x4
=12-20 =—8
3) ay=(—3)x4 =—12
@) z?—ay=(—37—(—-3)x4
=9—(—12) =9+12 =21

ﬂ@% 1 —6 2 -3 3) 4 4) 1
(1) 2(a@—3b)+(a+6b)=2a—6b+a+6b =3a
a=—-2%3a IZRATB &
3X(—2)=—6
(2) 3(2a —3b)—2(3a —4b)=6a —9b —6a +8b = —b
b=3% —bIZRATBL

(—1)x3=—3
2 . _ _6a% _
(3) 6ab=(—3ab)= 2ah = 2a
a=—2% —20 IZRAT B &
_ax(—2)=4
_ 2\ o (_ _ 2ab2 _2
@) (—2ab%)+(—6ab) =220 =2
b=3% % IRAT B
3
S =1
H -5 @5 B 2 W
(1) (22 —y)— (62 —3y)=22 —y —bz +3y
=—4dx+2

z=9, y=—T% —dz+2y IZRATB L
—4X9+42X(—=7)=-50

) 23z +y)—3(z +2y) =62 + 2 — 3z — by
=3r—4y
z=9, y=—-T% 3z—4y IZRAT B L
3X9—4X(—-7)=55

. 6xy 2r
3) by +(—yY)=—2Y __ L
3) by +(—3y? 37 Y
z=9, y=—T% —% RATS &
_2x9 18
-7 7
2
@) 129 X (—ay?)+(—day) = X g2
Y

y=—-7%3* ITRATDL
Jyr=3X(=7)7*=147

ﬂ@% (1) 18 2 —204 (3 =30 (4 96
(1) (8a—9b)—(9a —6b)=8a—9 —9a +6b=—a—3b
a=6, b=—8% —a -3 IZRAT DL
—6—-3x(—-8)=18
(2) 3(2a +5b)—4(a —3b)=06a + 150 —4a +12b =2a + 27b
a=6, b=—8% 2a+27 IZRATH L
2X64+27%x(—8)=—204

) 15a % ?
(3) 15a%2+(—3ab?)=— WE =—b5a
a=6% —5a IZRATBL
—5X6=-30
4) (—2ab)?xX4a'b+(—82b%)=4a%?x4a'h +(—8a°?
2 2 4
__ da I;azzia b — —9b
a=6, b=—8% —2ab IZRATH L
—2X6X%X(—8)=96



